BEMEHER

BESER 6 EXF ENE Bk R B BRENR
%6/15 1136 P. 1
REFRE 3.90
IEfE | Rk Fon” E 4 mEE kA -1- | -2- | -8- | -4- | -5- | -8- | EH w=E

T TI4T60|EH Bx (6) 371 345 | 3. 41 3.45
- MY 29 -0.1 | +0.1 -0. 1
2| 2[1458|k &K ZEB 6) KK 3.30 X 3.30
Y by AT +0. 4 +0. 4
3 12[TT57]3F2 &) ER 328 2.95 3.28
4435° = 3 YI9N° 5 +1.0| -0.7 +1.0
I 4 3253?@ KE(6) 353 2.18 | 3.26 3.26
hYa 37 #4939 +0.2 | -0.5 -0.5
51 16| TT62[#il" 1= (6) ER 32| 2779 3. 21
H’% N Wy EVL) 0.0 -0.1 0.0
6] 10]2355 ® w X 3727 3. 21
¥3 #t 4y -0.6 -0. 6
T 17[1163[E:& &% (6) ER 337 3.07 317
44 1T VEVLYD) +1.2 -1.1 +1.2
8] T3[TTB8[HIR FiZ (6) E 317 ] 2.56 3. 17
I Yt VEVINS] +0.5 -1.3 +0.5
9] T9[1165|FH L& (6) ER 310 X 3.10
I VEVI) +0.1 +0. 1
10| 181164l R E (6) ER 307 3.03 3.07
135°7 1Y VEVIND ) +1.6 -1.1 +1.6
Ti 6| ATBE[FER KR R (6) E373 302 2.74 3.02
HE 4 Y 19 -0.2 | +0.4 -0.2
2] 15| 1160[5ERE HEZK (6) ER 2.98 | 2.32 7.98
fF 4 Y9N 3 -0.2 -0.1 -0.2
T3] 3(3252|WB 58 6) i 2.82 | 2.95 2.95
ey 1 #4939 -0.2 0.0 0.0
T4 9]355 weE INERAT 2.87 | 2.81 7.87
W5 Ny 3% +1.0] -0.6 +1.0
5114|1159 =/ =¥ 6) ER 2.82 | 2.64 2.82
VY| Y3 -0.2 | -0.7 -0.2
16| T1[1156[5k8 =2 ®6) ER 2.57 [ 2.53 7.57
431 bt Y391° 5 -0.4 | +0.1 -0.4
T7 5[3254 qzz ITE ;) i} 5 2.51 | 2.04 751
#4939 -0.5| -0.5 -0.5
18] 8[5055 1;;&: M’BE(G) 3] 2.22 X 2.27
75939 #4 k9 +0.6 +0. 6
T[T457[E®  Ied (6) KK 2.76] 2.58 2.76
p3th 3R ¥ +h° AL +0.1 ]| +0.2 +0. 1




